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BB
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2− 5
CL

2− 6
AM

3− 4
B A

3− 5
DB

3− 6
BB

4− 5
BD

4− 6
AM

5− 6
BB

V = [1, 4, 5, 6, 2, 3, 1] N
Z = [V3 � V4] O [V4 � V5] O

[V5 � V6] O [V6 � V2].

P = 70, 93, 83, 96 N
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2− 5
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2− 6
AF

3− 4
BE

3− 5
CW

3− 6
BB

4− 5
AM

4− 6
AM

5− 6
BV

V = [1, 3, 4, 5, 6, 2, 1] N
Z = [V5 � V6] O [V3 � V5] O

[V4 � V5] O [V6 � V2].

P = 58, 64, 62, 76 N
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DV

3− 6
B A

4− 5
BD

4− 6
BV

5− 6
BB

V = [1, 4, 3, 2, 5, 6, 1] N
Z = [V5 � V2] O [V3 � V4] O

[V4 � V6] O [V6 � V2].

P = 32, 38, 74, 45 N
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BW
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BC

4− 5
BV

4− 6
BB

5− 6
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V = [1, 4, 5, 3, 2, 6, 1] N
Z = [V3 � V5] O [V5 � V2] O

[V4 � V6] O [V6 � V2].

P = 67, 84, 55, 84 N
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BD

4− 6
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V = [1, 3, 4, 5, 6, 2, 1] N
Z = [V4 � V6] O [V3 � V5] O

[V5 � V6] O [V2 � V3].

P = 59, 90, 58, 79 N
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V = [1, 5, 2, 6, 3, 4, 1] N
Z = [V3 � V4] O [V2 � V3] O

[V4 � V5] O [V5 � V2].

P = 70, 65, 41, 60 N
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BF

4− 6
BB
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V = [1, 4, 3, 5, 6, 2, 1] N
Z = [V5 � V6] O [V4 � V5] O

[V3 � V4] O [V6 � V2].

P = 86, 84, 96, 78 N
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V = [1, 4, 2, 3, 5, 6, 1] N
Z = [V4 � V6] O [V5 � V6] O

[V2 � V4] O [V6 � V2].

P = 95, 94, 40, 88 N
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BB
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4− 6
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5− 6
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V = [1, 2, 5, 6, 3, 4, 1] N
Z = [V3 � V4] O [V4 � V6] O

[V5 � V6] O [V6 � V2].

P = 74, 35, 83, 23 N
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V = [1, 4, 5, 2, 3, 6, 1] N
Z = [V5 � V6] O [V3 � V5] O

[V4 � V5] O [V6 � V2].

P = 58, 60, 94, 43 N
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BF

4− 6
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V = [1, 2, 4, 3, 5, 6, 1] N
Z = [V4 � V6] O [V3 � V5] O

[V5 � V2] O [V6 � V2].

P = 36, 89, 74, 89 N
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V = [1, 2, 3, 4, 5, 6, 1] N
Z = [V3 � V4] O [V4 � V6] O

[V5 � V6] O [V6 � V2].

P = 89, 95, 76, 93 N
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V = [1, 5, 6, 4, 2, 3, 1] N
Z = [V3 � V5] O [V4 � V6] O

[V5 � V2] O [V6 � V2].

P = 99, 91, 34, 104 N
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V = [1, 3, 4, 5, 6, 2, 1] N
Z = [V4 � V6] O [V5 � V2] O

[V6 � V2] O [V2 � V4].

P = 84, 63, 84, 52 N


